22 19

Q 13
1.2 A\ 1.3 —
1 11 Szoba M Kapcsolasi rajz
’OA parketta k‘
1.12 .60 ] 13,75 m2 1.19 1.60 M= 1:50
= 1
1.2 25 1
B 25 't 1.3 r O
: LE i
1.2 5
e [T 3
- T -
V L 407, )
3 b 1 7*2Frdo e
B[ “Hog | keramia | . Erkély
}3/' rdrob 55> = 5,66 m2 = o fagy. ké
A{‘ l.sz o3 & 00 4.1 13,5 m2
5 m2 53 52 60 ] 58 | 65 =
La 1 Kozl. T N
.;%‘ parketta
2m2 y N g e
I I
\éVC 5. 7 9. s 1.00 ‘46
er. ng Omi 8. 10.
1,38 mZ2
s Al $128)
u Etkez6 Nappali
o El6tér arketta parketta
° ketta P 18,38 m2
parke™@ Lo, 100 1.00 15,90 m2 ’
6. 4,0U 1Mz 1 7 1
fo) fe) o7. N y 2.89 . 2.20
: 1o, Q) -
1.12 . 100 100 o A3
o o o - o 5
Konyha S o &
= | parketta - 0o - Y,
17,68 m2 o
O (0] O -
i 3.68 o 3
E@\ 5 T3 BM=2.80m 1 3.00 pt )
. EM. 4. LAKAS % T T T




